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static void swap1(int n1, int n2) {
inttemp=nl; nl=n2; n2 = temp;
}
static void swap2(int[] array) {
int temp = array[0];  array[0] = array[1]; array[1] = temp;
}
s ] FYIRERFIENSGER ?
(a) int[] a = {1, 2};
swapl(a[0]. a[1]);
System.out.println("array is {" +a[0] + ", "+ a[1] + "}");
(b) int[] a= {1, 2};
swap2(a);
System.out.println("array is {" + a[0] + ", " + dll] + i
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power(m,n—1) +m, i
HITAEESUT © public static int power(int m, int n)
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power(m, n) = {
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public void insertToHead(String number, int score)
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